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B.A./B.Sc. Programme 6th Semester Examination, 2023

GE1-P2-EcoNOMICS

Time Allotted: 2 Hours

The figures in the margin indicate full marks.

The question paper contains paper GE-2A, GE-2B and GE-2C.
The candidates are required to answer any one from three courses.
Candidates should mention it clearly on the Answer Book.

GE-2A

MACROECONOMICS

GROUP-A / T@iot- / AHE-h

1. Answer any four questions:

fasfeie @-Fiw 51af6 @ese Teq nies
P FIRGCT THEwD! IR T8I

(a) Differentiate between GNP and GDP.
GNP &3 GDP-&7 7145 41
GNP 31 GDP- HTST urefery TeI¥ |
(b) Define NNP at market price.
& 3T NNP-Gg 3@ 7ie |
IR He T NNP - 94T T8 |

(c) What is meant by stagflation and hyperinflation?

‘Stagflation” @R ‘Hyperinflation’ I1C©

HERHICr-AHeg, TioRTY 37 iy Jarehifer =Tl & gfero 2

(d) What is meant by Price Index Number?
&) IO T @0 B (R 2
Hed GADID pH HeT b &l ?
(¢) Show that MPC + MPS = 1.
e @, MPC + MPS = 1.
MPC + MPS = 1 &8 9l SESIEN |
(f) What is meant by multiplier?
@4iF (multiplier) 0o & @RI 2
0T T & & 2

& @Rl ?
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8. (a)

(b)
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GROUP-B / etl-4 / wig-@

Answer any four questions 6x4 =24
F-(FI9 5195 &Te7 Teq wie
P TR UHERST IR fTen]

Explain the Fisher’s Quantity theory of Money. 6
fRrica Seda ~fawie og S 341

feherepT HeTepT TRHTUT RIgT e TeI |

What is loanable funds theory of interest rate determination? What are the 2+4
sources of loanable funds?

Aora 23 edfRcet deiae) w2k welt [ 9 eiey wefkiem Setef & 7 9
SIS &R FYRUreT KU Iy Ry el & YfSFe ? KU PISep! AlTews D b
§17?

Describe briefly the concept of effective demand. 6
I bifRwia el Ko il 41
TTIEIRT FRTEhT STTERUIT HETHHT JufT T8I |

What are the various effects of inflation? 6

Erifen [Kifen eeref & /o
HorRhIfcrep! A= gHTasse & & &7 2

What factors determine propensity to consume? 6
I SoimIRefe (ol @7erel fwdiae e 2
SUHNT ygfRT FreafRor T BRepEws b P 1 2

What are the difficulties in measuring National Income? 6

TOR oY ~ifEwice’ sryfRdiefs & & o
RIS ST TUHTERT BiSISE b P &1 ?

GROUP-C / fqetit-ot / wg-1

Answer any fwo questions 12x2 =24
- 717 &ad Ted e
T gFICT THEHD! ITR TR
Discuss the concept of Balance of Payment. 4+8

AR 2 (BOP)-97 4= Sitetoel 41
IThTe! TIeT e TR BeTthe] T8I |

What are the components of Balance of Payment?
BOP-@3 SomiaafR i & 9
YeRTehT eI EIChERd b P &1 ?
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10. (a)

(b)

11.

(2)

(b)

(©)

(d)

(e)
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How far Cambridge version of quantity theory of money is superior to Fisher’s
version of quantity theory of money? Explain.

FRE-aF oL wAfe oel, Fe-93 9g-aF GE T T ¢
BT IS B ?

What is meant by inflation?

IS 10 5 @Rl 2

HGREHITY HeTepT b Bl 2

Explain the concept of inflationary gap with the help of a suitable diagram.
T oras AR J@IFIfox G (gap)-aF A=El(B P 11

IYGch GfeHD] eIl JERIIfTe] AIRIeTh] JTHRU SR T8I |

Critically examine the determination of output and employment in Classical
theory.

Teoive ¢ SRR e S ogibe Ao sRicn 1
RET RIGTCTHT IeUTEH 37 ASHTRIDT FEROr FHT D YA Siid T8 |

GE-2B
INDIAN ECONOMY
GROUP-A / T@iot-3 / HHg-P

Answer any four questions:
@I 5115 &lred Tes nies
P TRGET THEHD! IR (ST

What are the various components of Money supply?
w2 QalieTa SiwiResfe & & 9

e ATYfefepT fAfH—T Eicedhes b P g1 ?

What is meant by globalization?

PR FeTce & @Rl 9

JHUSTHIDRUT HTet P g3 ?

Give two examples of Cottage and Small Scale Industries.
0 ¢ $ioa Fiesa 1fb Tuizge e

PR 3 <TE] SENTDT GSaCT IETERVIES ST |

Write any two features of India’s Capital Market.
SIS -G AR 76 (8] (7|

TRTIDT YS! SSREPT Ggare] fAATATERD TCTER |
Mention any two social security measures in India.
SIS IR 7% s st i<t Soae <
R ST THITD YRETE b b EIITD ?
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Spell out two achievements of India’s Five Year Plans.
SRACeH AN ATFHAIR QI 11 Fewey bl 741
IRTID! TS ASHIDT GHacT SUCTHEE AT |

GROUP-B / etl-4 / wg-@

Answer any four questions 6x4 =24
@-(FA 5110 eT3F Ted wis
P TRICT UHERST IR e
Discuss briefly the role of Cottage and Small Scale Industry in employment 6

generation.
FORE Ece T ¢ Fba ResR gl SIicEnsel 341
RISTIR GFMHT PR T oTg SERTDT JfHebT BeThel TR |

What are the functions of RBI? 6
RBI-43 SN Scenba 41

RBI-oT feharess & & &7 ?

What are the problems faced by Indian Industrial Labour? 6

REERRRIES G R EITSGITIEE]
IR ST fie HfPepesset AT T{U FHRATER P D &7 ?

Mention the causes of Balance of Payment disequilibrium in recent years in 6
India.

©IH0® BOP-93 ORAIaNe FiRele i Sicetoa] 31
YRTHAT Sl(ﬁcbl HlclgXoH] “:Ipthl"icbl ‘H*SIDC'H M%i*glr(\ﬂd g'lq)l hIRUTeXn Gldld'jDSN'I\I

Write a note on India’s Foreign Trade in Post Liberalization period. 6

TR ARTS] I SIS (IR ey 7510 Hiswl (714 |
IERIPRUI DT ST TReep! faelt emaRAmel feequft eieei] |

What are the various objectives of India’s Economic Plan? 6
SRS SAeS “fRsmia [ifen Srm e SiEbe 3=
YRG! ATRIe TISTD! AT~ Ieeas & b &1 2

GROUP-C / fqetit-ot / wg-1

Answer any fwo questions 12x2 =24
-4 717 &rad Ted e
T G TR ST e
Discuss the role of Cottage and Small Scale Industry in terms of output 6+6

generation. What are the problems faced by Small Scale Industries in India?
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SIS T Jfan 7 ¢ Fiod Haw gl FcETval 91 SRees 9 ¢ Fivd Hesw

e S )
IcUTET GoITHT HER AT g ITNTD! IHPT BeTthel TIRRL | ARTAT oY ISNTel
RATHT IO FERITE b b &1 2
0. Critically explain the credit control policies of the RBI. 12

RBI-& ¢l ferael Mifos ifcaioai 1
RBI-e1 K0T FRI0T Afcee THIA T TcHD SHUHT TR T8 |

10. Discuss the achievements and failures of India’s five year plans. 12
SRCeH AR AfFFeIR Ay 8 Lo Al 41|
HRTIDT USTIS ISTTDT HHETIIE0 A SFAHeAIEs BeAhel TR |

11. What are the features of India’s Capital Market? 12
0O FerKAl SN (B S 541
R Yoil SR fALATE® b b & ?

GE-2C
PUBLIC FINANCE
GROUP-A / Reli-% / T g-&

1. Answer any four questions: 3x4=12
R b1Ff 2veR Tew mies
P TRGET THE0D! IR (ST

(a) Define externalities.

ifRreol e s |
qIEITER TRHIYT e |
(b) Name some sources of revenue of state government.
A HIFICER AECHS SRS SR I (79|
NI {NDRD[ X[ D] %‘s“f HldgXdl dH sI(‘II\%‘\'I,)E*I‘{'LI

(c) What is meant by incidence of tax?
T4 ‘incidence’ IeT00 [ @RI 2
PR AIST HTeT B D ?

(d) What is meant by the ability to pay principle of taxation?
T4 M- RO A Fe10o 6 @I 2
PRI YRTDT & RIGIT F=Tel &b Ifes ?

(e) Distinguish between positive and negative externality.
LI 8 YOS qifRyel TeT0e & (IR 9
ADHRIHD I TbRIcHD ITRIATHIST U1 e |
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What is meant by Pareto efficiency?
“P[JItCo! v el (Pareto Efficiency) 3670 6 @Rl 2
UIRET ST HTTel & gD 2

GROUP-B / etl-2/ wg-@

Answer any four questions

@-FA 515 @F e wis
P FIRGCT THEHDT SN [T
Discuss the salient features of a public good.
TP T-F AR e 3 T4
P AT+ IR faeaTese wrdf TR |

Define Progressive, Regressive and Proportional taxation. Which tax system is
suitable for India?

ehifeRier, fafe ok weifes F9-97 k@l wis) @ 7 oY oFted #itF
TG 7

srTfrette, TfcrTY, 31T STuTiied Re! URHIST R8T | ARAa! F175 7 PR TuTTe!
SR ?

Explain Pareto Efficiency and equity in terms of social welfare.
ANE TR AR “7ifRE! wwe! @3k AT (FT0T) A F)
AR DAV STRIR URET ST A ISR R T8 |

Differentiate between direct and indirect taxation with examples.
2T @ AT FCAF WL SHIeE AT T4
IETERURI ST Ul 3T URIeT x AT Urefer {81y |

Distinguish between internal and external public debt.

ST @ AT ((FMIF) TP 2el-a7 S 2L 41
3TFIRE AT aTaT ST #7eT urefery TEN |

What is meant by market failure? Explain with an example.
@ IO IS F @R 9 TrIemTg FI F41
IR fAtheldT WTel & S5 ? ISTERUID! HERITTeT TSR |

6x4 =24

3+3
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GROUP-C / frersi-st / rg-

Answer any fwo questions 12x2 =24
fwfeiee @-Fiw 716 @ve Tea me
T gFICT THEHD! IR AR
8. Describe elaborately the Fiscal federal structure of Indian Economy. 12
SRS TSI T T 17 41

9. Is internally held public debt better than externally held? Explain your answer. 12

el Tl e 5 12y FBIRN Ao- G QTR O, Tl 4|
& SITIND HUAT ARIUD! 3KUT IT&T WUHT JIRITDIAT W &8 27 T IR
AR |

10. Critically discuss benefit theory of taxation. 12
9 IS R4 9E’ (Benefit Principle)-49 FIEEETRE S5 341
PR AT RAGTT THTATICHSD TUHT BeTthe] T8I |

11. (a) Explain the ability to pay principle of taxation. 9+3
T4 A IO OGO G F4|
PR YhTTeh! &I RIGTT ST TEN |
(b) What is meant by polluters pay principle?
WA @wlq WIS’ (Polluters Pay Principle) Ie1CS 6 (314l 9
SISNUIBRT bt RAGT HeTTel & 3D ?
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